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Question Solution Mark Mark
1 (@) 8,10 1 5
(b) 4 .
2 gf (x) =9(8x-2)
_1-(3x-2) 1
3x—2
23 .2 1,1 3
3Xx-2 3
3 1 3
fr(X)==x+=
(X) FXtE 1
h= 1 1
2 1
k=6
3
4 (p-1)x*-8x-4=0 1
(-8)° - 4(p-1)(-4) >0 1
p>-3 1 3
X2 —4x-21>0 1
S5 (X=7)(x+3)>=0 or
5 1
7
y
-3 7
X<-3, x27 1 3
6 @ h=-2 1
k=6 1
b) c= L 0-2)?+6
(b) c= -2 (0-2)"+ 1
c=4 1 4
log 1052“1 =log,, 8"
7
(2x+1)log,,5 = xlog,, 8 1
0.699 (2x+1) = 0.9031x 1
« = —-0.699
0.4949
1 3
= -1.412
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8
log,x— +3=0
9 log, x 1
(log, x)* +3log, x—4=0
Lety=log,x
y’+3y—4=0
(y+4)(y-1)=0 1
or (logsx +4) (logsx-1)=0
y=-4o0ry=1
log,x=-4 orlog,x=1 1
1
Xx=— , x=3 (Both 4
a1 (Both) 1
9 1
a) ar>=108 or ar'=12
1
1
r= =
3 1
b) a(l)? = 108 4
3 1
a=972
r—£ or (= 4x +4
10 X+1 12 1
12 _ 4x+4
X+1 12 1
4x* +8x-140=0
(x=5)(x+7) =0 1
Xx=5x=-7 (Both) 1 4
6 6 _
11 E[a+8]:39 OR E[2a+5d]=39 and a + 5d =8 1,1
3
a=>5 1
12 @ logay = (blogs A) x + logs A
1
or logsA = 2
A= 16 1
()  blogsA= 2=1 = 3
0-(-2) 1
b =1 1 4
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13
(o
a 2
a=12
-6 -4 k -6
14 | (a) Area= *
2|-8 -4 -14 -8
= %|24+56—8k—32+4k—84|
= 11364
2
= 18+2k
(b) 18+2k=0
k=-9 4
15 (a) 6"8“ = 6J|S+EJ§
= —15p+10q
TR=TQ+QR
U UM
=—SQ+QR
5}
3
=—(@5p -10q)+10q
5 - - %
=9p + 4q :
0/ 0/
16 — (-3
a) OP
ve (]
(b) Magnitude of OP =5
_ - 3
U3 or| 5
5\ -4 _4
)
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(b) tan(90°-x) = cot x 1
_ t
l—t2 l 3
18 Z/POR =0.7854 rad
PO = V42 + 4% = /32 = 5.6569 or 1
QR =5.6569 — 4 = 1.6569
Perimeter = (0.7854 x /32 ) + 4 + 1.6569 1
= 10.1 or 10.0998 1 3
19 | Gradient of tangent =-3 1
1
~k+1=-3 1
2
k=-8 1 3
h(x) =3(2x-1)"°
20 h'(x) =-9(2x-1)"(2) 1
. -18
hl)=———
() [2@1) -1]° 1
h'(1) =-18 1 3
k
4x*
21 {THSXL =-24 1
(2K +6k)—(8+12)=-24 1
k?+3k +2=0
(k+1)k+2)=0 1
k=-1,k=-2 (Both) 1 4
i il = 1g=2
22 (a) New interquartile range = ZX = 1
(b) New standard deviation =+/25 x % 1
=2 0r1.25 1 3
4
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23 | (a)
2 1
_X_
7 3
_2
21
(b)
2 2 5
—X—+—=X—=
3 7
_9
21 3
24 n=10, p=03, =07, r=2
P(X =2) =%C,(0.3)*(0.7)"
3
=0.2335
25 1-0.6103=0.3897
From the table, a =-0.28 2
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